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Written Solutions: Provide clear E-GlllTlDIlS 0 the followinhg problems. Write vour solutions on the Aﬂswers Booklet. Yc:m

will receive a Cﬂmﬁmrmrmns de*(:'ur \fﬂl‘ how well vour math 1s presented. a b D [7

2
1. The surface area of ansquar e—baaed—pyralmd 15 4= Zb\/ h™+ % where / 1s the height of the pyranud and b 1s the

width of the base. — & D
Determune the surface area of a square-based pyranud witli base 3% m wide a

2. A gasoline tank 1s a cylinder with radms1-Sm and height 6 7m.

One cubic metre 1s 1000 litres.

g the price of gasis $1.34/T.. estimate the value of the gas in a full tau]{
" theNfa e’P
3 3 ThE f{lI']]]{l]ﬂ \§ﬂ7 épla@i@ d metres. of an object that acceler Eﬁﬂ a a eﬂb PAT

—

second s IEd for fae-:})u S

Determine how long it takes for an object acceleratmg from rest at 3.6 m/s? to b J_J_lﬁ ce /7}_ m

4. Simplify u*uu / %DD >< %
74 X/000
ﬂ$ é?jfg [0 OU L{/7 é[DD /(

5. Smehfy
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3. The formula d = > at” gives the displacement. d metres. of an object that accelerates from rest at ¢ metres per

L

| I Tools Fill & Sign Comment

second squared for ¢ seconds. V| L_
Determine how long 1t takes for an object accelerating from rest at 3.6 my/s? to be displaced 11 m.

—_—

4. Sjlﬂpljflv's,[rﬂaf;: Cl‘__“ -J— O\_t =N

5. Simplhty l_lg . then evaluate for y = 2. ‘ I 3 é)
yoy —
i A
6. Explam the meaning of the exponent in the expression 64 ° || 2
7. Rewrite A/ —0.343 using rational exponents and evaluate. — ‘{
3
8. Rewrite 243 in radical form and evaluate. I

2

9. Solve for x in the equation x ? = 0.00243. Assume x is positive. é / _ { c:l

10. Solve for x in the equation x* = 81. Assume x is positive.

11. A sample of 10dine-125 undergoes radioactive decay. m — ‘t
. :

The equation M = 17(0.976) ’ gives the mass M grams of 1odine-125 remaining after 7 da

VS, —
Determine the initial mass and the mass remaming after 50 days. % :DZ é) S’f’C

9

12. The formula D = 0.099M *° gives the drinking rate. D litres per day, of a mammal with body mass M kilograms.

Determine the body mass of a mammal with a drinking rate of 25 L/day:. f c;‘t
13. Express 8 as a power of 2. ' -“"_I_ _(_ake S+Q 2'5 1 : ,I;(' t /l)b

|5p|ACﬁ
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10.
I1.

12

5.

Determine how long it takes for an object accelerating from rest at 3.6 m/s? to be displaced 11 m.

Simplify 1™ u. ! c:l - 5—
[1:2 J B | \/t (A 4

Smehfy N . then evaluate for|y

= U (W

Explam the meaning of the exponent in the expression - / g ==
e =)\ _t ﬁ p

Rewrite A/ —0.343 using rational exponents and evaluate. DO

3 Z l
Rewrite 243 i in radical form and evaluate. [7[—

i p—
: . 2 . . —_—
Solve for x m the equation x = 0.00243. Assume x 1S positive. % »

=I5
Solve for x in the equation x* = 81. Assume x is positive.

A sample of 10dine-125 undergoes radioactive decay.
I

The equation M = 17(0.976) ’ gives the mass M grams of 10dine-125 remaining aker ¥ days. [ Z)

Determune the initial mass and the mass remaming after 50 days.

9

The formula D = 0.099M gives the drinking rate, D litres per day. of a maijunal with hody mass M kilograms.
Determine the body mass of a mammal with a drinking rate of 25 L/day.

Express § as a power of 2.
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7. Rewrite A/ —0.343 using rational exponents and evaluate. — O ? L?( 3 5

3
Rem'ite 243 i in radical form and evaluate. —_ O 2

9. Solve for x i the equation x * = 0.00243. Assume x is poSitive.

NI
10. Solve for x in the equation ' = 81. Assume x is positive, 5 \ 5 Ll )] >

11. A sample of 10dine-125 undergoes radioactive decay.

I

The equation M = 17(0.976) ’ gives the mass M grams of 10dine-125 rematg-adter ¢ days.
Determune the initial mass and the mass remaming after 50 days. —— gﬂ

9

12. The formula D = 0.099M *° gives the drinking rate. D litres per day, of a mammal with body mass M kilograms.
Determine the body mass of a mammal with a drinking rate of 25 L/day.

13. Express 8 as a power of 2.

14. Solve the equationx —3=2—-"Tx

15. Solve the equation 3** = 9 aleebraicallv. bv eetting both sides of the equation as powers of the same base (base 3 in
N 9:54 AM
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10.
I1.

12

5.

14.

I5.

5

(95011?6 for x m the equation x ? = 0.00243. Assume x is positive.

Solve for x in the equation x* = 81. Assume x is positive.

A sample of 10dine-125 undergoes radioactive decay.
I

The equation M = 17(0.976) ’ gives the mass M grams of 10dine-125 remaining after ¢ days.
Determune the initial mass and the mass remaming after 50 days.

9

The formula D = 0.099M gives the drinking rate. D litres per day. of a mammal with body mass M kilograms.
Determine the body mass of a mammal with a drinking rate of 25 L/day. f

Express 8 as a power of 2. /< %"ﬂ — O OO(Q%

Solve the equation x —3=2—"7x
Solve the equation 3** = 9 algebraically. by getting both sides of the equation as powers of the same base (base 3 in
this case)..

2 —5x

Solve the equation 9 = 1 algebraically.

Solve the equation 5°*~* = 1257 algebraically.

C e =1 e BEO e
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10. YSolve for x in the equation x* = 81. Assume x is positive.

11.} A sample of 10dine-125 undergoes radioactive decay.

I
The equation M = 17(0.976) ’ gives the mass M grams of 10dine-125 remaining after ¢ days.
Determune the initial mass and the mass remaining after 50 days.

9

12. The formula D = 0.099M *° gives the drinking rate. D litres per day. of a mammal with body mass M kjlog'ama.
Determine the body mass of a mammal with a drinking rate of 25 L/day.

M ~ \7 ( 0.9 L

ﬂlf% | Y\/\ () q

s ( )
\") Q S4d4 )

s i the el ek s (79

15. Solve the equation 3** = 9 algebraically. by getting both E-]dES of the Equatmn as powers ::rf the same base (base 3 in

this case).. and /L e V}‘ 055 q. a}
16. Solve the equation 9° > = 1 algebraically. W

17. Solve the equation 5~ * = 1257 algebraically. YS l 6 q 5
lac

13. Express 8 as a power of 2.

——

18. Solve the equation 6™ = 88 using graphing technology (including Graphmatica). Round to 2 decimal

. 10:05 AM
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13. The formula D = 0.099M " gives the drinking rate. D litres per day. of a mammal with body mass M kilograms.
Determine the body mass of a mammal with a drijﬂ{ing rate of 25 L/day:.

gut M-HTk
| H° D Dﬂ— D
7252 5= M\

Hh6 85 = M

14. Solve the equationx —3 =2 —"7x,

15. Solve the equation 3** = 9 algebraically. by getting both sides of the equation as powers of the same base (base 3 in
this case)..

2 —5x

16. Solve the equation 9 = 1 algebraically.

17. Solve the equation 5°*~* = 1257 algebraically.

18. Solve the equation 6 = 88 using graphing technology (including Graphmatica). Round to 2 decimal places.

19. Hillary walks to work i the winter with a cup of coffee.

The cup of coffee’s temperature, T degrees Celsius. after m minutes is modelled by the equation 7'=75(2) 6 .
Determune how long it takes for the temperature of the coffee to reach 26°C.

The value V dollars. of a new truck  years after purchase is 7' = 45 500(0.91)".

=Py PR ik I = = AT A
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13,

@ Solve the equation x —3=2—-"7x %

15.

16.
17.

8.
19.

20.

21.

Determine the body mass of a mammal with a drinking rate of 25 L/day.

Express 8 as a power of 2.

Solve the equation 3** = 9 algebraically. by getting both sides of the equation as powers of the same base (base 3 in
this case)..

Solve the equation 9°* = 1 algebraically.

Solve the equation 5°*~* = 1257 algebraically.

Solve the equation 6 = 88 using graphing technology (including Graphmatica). Round to 2 decimal places.
Hillary walks to work in the winter with a cup of coffee.

The cup of coffee’s temperature, T degrees Celsius, after m minutes is modelled by the equation 7'=75(2) 6.
Determune how long it takes for the temperature of the coffee to reach 26°C.

The value. 7 dollars. of a new truck ¢ years after purchase is 7= 45 500(0.91)".
Determine when the truck 1s worth $35 500.

Suppose you mvest $800 at 6.7% a year. compounded annually.
After n years, the amount of the investment is given by 4 = 800(1.067)",

e @B’ T
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s 15. Solve the equation 3** = 9 algebraically. by getting both sides of the equation as powers of the same base (base 3 in

this case)..
) _ ~ = DC —
16. Solve the equation 9° " = 1 algebraically. \j -

17. Solve the equation 5°*~* = 1257 algebraically. @_\_@

18. Solve the equation 6™ = 88 using graphing technology (including Graphmatica). Round to 2 decimal pl

19. Hillary walks to work i the winter with a cup of coffee. E 5

i

The cup of coffee’s temperature, T degrees Celsius, after m minutes is modelled by the equation 7'=75(2) 6.
Determine how long 1t takes for the temperature of the coffee to reach 26°C.

20. The value. ¥ dollars. of a new truck ¢ years after purchase is 7" =45 500(0.91)". & 1 - 524

Deternmune when the truck 1s worth $35 500.

21. Suppose you mvest $800 at 6.7% a year. compounded annually.

After n years, the amount of the investment is given by 4 = 800(1.067)",
Determine how long 1t takes for the investment to grow to $1600. 7

22. The population P of a new town doubles every 26 months. _—
Write an equation using the doubling formula found in your text, and determine the population » months after the
town had a population of 1700. (Note that the initial population 1s 1700.)

23. The 1sotope 1odme-131 1s used as a tracer i medical imaging. It has halt-life of about 8 days.
Using the halt-life formula found in your text (or ask for help) estimate the number of days it takes for a 180 mg
sample of 10dine-131 to decay to a mass of 20 mg.

24. A shipping company charges a fixed cost per package plus a variable cost per kilogram.
The price. ¢ dollars, of shipping a m kilogram package 1s ¢ = 3m+ f. where f 1s the fixed cost per package.
a) Rearrange the formula to 1solate m.
b) Determine the mass of a package that costs $11.47 to ship with a fixed cost of $6.45.
c) Ifa2.92-kg package costs $13.98 to ship. what is the fixed cost?
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